o
[N

<3 @> (rad)
<)
o [
)

............................................

[y
TTTT] T T

2 3
TPlpoT (PCA t%obeamlinélf)

—0v2

10

Ratl

iy
TTTT T T

0.95

=
o
N

_T11_original_Tow

—=— DOM_TT_ Ft
—e— DOQM_TT newbranch_lowpt

—— DQM_TT original_lowpt_pLess
—— DOM_TT newbranch_lowpt _plLess

Ratiq

[y
TTTT] T

o
©
a

[ay
o
I8

1

15

<op/p. > (%)
=

o
LIS L I L I L L LB

&
4
= T
<
PR
T
LRy
<
&
0

iy
TTTT T T

o
©
a

[y
o
I8

I I : 2 3
1 TPl[:g)T (PCA t%)obeamlin%)o

iy
TTTT] T

[any
o
iR

1

2 3
TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


